PRODUCT NUMBER
20020008-XXX1BO1LF

_
<C c00z0008— OO 0O 1 B O 1 L F
— A
=
Lo
M PITCH POLES LF: DENOTED RoHS COMPATIBLE
— C: 3.50 mm 02: 2 POLES
L — D: 3.81 mm 03: 3 POLES
— G: 5.00 mm 04: 4 POLES
H: 5.08 mm |
[ :
- 24: 24 POLES
— B
O PROPERTY TABLE
Lo FCI SERIES NAME 02-350 02-381 | 02-500 02-508
PITCH (mm) | 3.50 3.81 5.00 5.08
VOLTAGE RATING (VAC) | 300 300 300 300 NOTES: aLs
._\ CURRENT RATING (A) 8 8 12 12 11 HOUSING: THERMALPLASTIC RESIN, UL 94V-0 RATED, COLOR GREEN.
u)\ APPLICABLE WIRE RANGE(AWG) | 16~28 | 16~28 | 12~24 | 12~24 1 T haP, BRASS. NICKEL PUATED.
1-4 TERMINAL: PHOSPHOROUS BRONZES, TIN PLATED.
b WRE CROSS SECTION (mm*mm) |1.5~015 [1.5~0.15 | 4.0~0.2 | 4.0~0.2 -4 TERMINAL: PHOSPHOROUS BRONZES, TIN PLATE
WIRE STRIP LENGTH(mm) | 6~7 all hll 67 ® BETAILED PRODUCT PACKING SPECIFICATION REFER TO FCI GS-14-1394
c TORQUE +/-10% (N-m/Lb=in) |0.19/1.7 |0.19/1.7 | 0.4/35 | 0.4/35 4.FCI, SAFETY CERTIFICATE LOGO AND SERIES NAME TO BE SHOWN ON
2 PRODUCT SURFACE.
s 2 SOREW | M2x0.4 | M2x0.4 | M3x0.5 M3x0.5 5. THE PRODUCTS WHERE THE PART NUMBER END IN "LF” MEET THE EUROPEAN
X WITHSTANDING VOLTAGE (kV) 1.6 1.6 1.6 1.6 UNION DIRECTIVE AND OTHER COUNTRY REGULATIONS AS DESCRIBED IN
g §;§ OPERATING TEMP. (') |—40~+115]=40~+115|-40~+115] —40~+115 65-22-008.
BEST POLES AVAILABLE 02~24 02~24 02~24 02~24
Soza |
8£838
8% 3
2325 SAFETY CERTIFICATE FRus Eus YT AT
3233 Mot code \/ tolerance projection MM
2.32% Heottreat @6
2R Plating/Finish
f.,"sgo D Dr | BEER FU S size Scale
£5-8§ reviecnnoJdr | dste e TREER FU 5 Product forily A4
ST eg TOLERANCES UNLESS | A (ISR B 0S89 T TGARY HSIEH | 0625 Model Name ECN T10-0042
fg §; CPEGPED e oo-iise 5| —Ters—Poer| JOSEPH HSIA[ 0625 Model Revision REL Level RELEASED
tre3 o e I oo (v ] osos0 g  TERMINAL BLOCK e 20020008 R;V-
§E:§ % |00 [ - | - |- - * Pluggable plug, hook entry side 3
gc‘z ° : ANGULAR X +1° - - - - Pro/E flle catalog no CUSTOMER | sheet 1 of S
2553 T
EEST 1 2

3PDM: Rev:D

staTus:Released * printed: May 08, 2010

Downloaded from Elcodis.com electronic components distributor



http://elcodis.com/parts/6171826/20020008.html

3PDM: Rev:D

1 2 3 4
PRODUCT NUMBER | SERESNAME | _ PITCH |
20020008—CXXIBOILF | 02-350 | 3.50 mm |
_
<C
— 7/
— A i
Lo
— ] [
L — /1
=
] Dim A
) G
B - N = Number of poles
= I I 02.8x1.7 Dim A=Nx3.5[0.138]
o T s — Dim B=(N—1)x3.5[0.138]
[ ! i I [0.110x0.067] ToL | bim A | Dim 8
' 2-6p | +0.15[0.006]
-—\ M § \.T 7-12p| +0.20[0.008]
o
- o - +0.25[0.010
OV “s [Apalpm 13-185]_s025(0010
“ e~ 19—24p| +0.30[0.012]
' I I ' I I o ©
. C ( o N
€ o 2,
1 :
G [c:ge?g] ‘[3’153%] ¢
%fé;‘o’_ - — 2p to 6p with wedge,above7p
PP
sask without wedge(including 7p) [Materal Spec_ref
§z §§ Mott?det tolerance projection MM
65988 Heattrea
22t Ploting/Finish o | —
gSEcp D | BEER FU S Size Scale
252 Eng | BEER FU 5 Product forily A4
o2 gg Chr | GARY HSIEH S Model Name ECN T10-0042
ig §_2 Appr| JOSEPH HSIA S Model Revision REL Level RELEASED
$r23 CJ | . TERMINAL BLOCK 2 Rev.
%%fg J ES Pluggable plug, hook entry side H 20020008 D
| ; o Pro/E flle_ | cotalog no CUSTOMER __ | sheet 2 of 5
ciss e
£E5%

staTus:Released * printed: May 08, 2010

Downloaded from Elcodis.com electronic components distributor



http://elcodis.com/parts/6171826/20020008.html

1 2 3 4
PRODUCT NUMBER __[SERIES NAME | _PITCH |
20020008-DXXIBOILF | _02-381 | 5.8 mm |
_
<C
—
= ;
Lo
A XJ XJ XY
| |
— )
L — /A
=
I:l . 10 4
O Dim A [0 4’09] SCREW N = Number of poles
: Dim A=Nx3.81[0.150]
B G Dim B=(N—1)x3.81[0.150]
E . 02817 | e/ | TOL. [pim A| Dim B
I I I DY I I —— K, — +0.15[0.006
\ [0.110%0.067] l 2-6p [0.006]
' ' i ' ’ l HOUSING 7-12p | +0.20[0.008]
=\ -7 V £ 13-18p | +0.25[0.010]
0)\ gy ; = 19-24p| £0.30[0.012]
— o
w | S o/ i)
? . ¢ “l no§
5.3 © N
253 ﬂ]l \ S
g358 —
gézg 3.81
Stes | 1.91 [0.150] "G SEC G-G
§3g_' [0.075] Dim B 2p to 6p with wedge,above7p
53l without wedge(including 7p)[Material Spec ref
§28. Mat code tolerance | projection MM
5528 Heattreat
2ot Plofing e S| —
443 <D b | BEER FU 5 WA Scale
\dggg Eng | BEER FU S Product family
o2 gg Chr | GARY HSIEH S Model Name ECN T10-0042
ig §_2 Appr| JOSEPH HSIA S Model Revision REL Level RELEASED
$re3 CJ | . TERMINAL BLOCK 2 Rev.
%%fg J 5 Pluggable plug, hook entry side H 20020008 D
QE ; o Pro/E flle | catalog no CUSTOMER [ sheet 3 of 5
ciss —
£E5% 1 | 2 3 4
PDM: Rev:D status: Released ™ Printed: May 08, 2010

Downloaded from Elcodis.com electronic components distributor



http://elcodis.com/parts/6171826/20020008.html

1 2 3 4

PRODUCT NUMBER | SERIESNAME| _ PITCH |

20020008-GXX1BOILF | 02-500 | 5.00 mm |
_
<C ( !
— [
— A {
=
Lo |
M
E ] 12.6
= Dim A [0'496] N = Number of poles
SCREW Dim A=Nx5.0[0.197]
(. G=— LOUSING Dim B=(N—1)x5.0[0.197]
) = — ) TOL. | Dim A | Dim B
¥ )
— B [/ oM CLAMP 2-6p | +0.15[0.006]
(@) F o,
L =l = TERMINAL 7-12p | £0.25[0.010]
D A |:| I:I —| M2 13—18p| +0.30[0.012]
| | oN| ™o HOUSING
g Lol = i[ 19—24p| +0.40[0.016]
s 1= =
(’)\ M = ‘
“ | 52 —
i o 5 H—
c ] =
T, it 4.7
253, G=— [0.19]
2548 25 2.6
Est: ) , [0.102] SECTION G—G
a4t [0.098] Dirm B SECTION 6=G
215 5.0
PP
E’ §§§ [01 97] Material Spec ref
€248 1t Mat code \/ tolerance proJection
ST 3¢ g MM
5528 S SIS R ST o S Heottreat
2808 4“741 o fing, Frigh og| —
89€5D AR Ry Ry ‘V L] B | BEER FU S = Scale
s WY Eng | BEER FU S| Product fanil
S5 @B ‘g@ Cor | GARY_HSIEH | 0625 Fodel Nere ECN T10-0042
gE g2 | l\_/—\/ Apor | JOSEPH_HSIA| 0625 Model Revision REL Level RELEASED
$r23 i Ci, | . TERVINALBLOCK 2 Rev.
%%fg J 5 Pluggable plug, hook entry side H 20020008 D
QE ; o | Pro/E flle | catalog no CUSTOMER [ sheet 4 of 5
cist SRS
EES3
* 1 2 3PDM: Rev:D staTus:Released * printed: May 08, 2010

Downloaded from Elcodis.com electronic components distributor



http://elcodis.com/parts/6171826/20020008.html

1

PRODUCT NUMBER | SERIES NAME | PITCH |
20020008—HXX1BOILF | 02-508 | 5.08 mm |

_
<C /
—
= DODDD
=
Lo ) )
/M 7 . 12.6
T _SCREW N = Number of poles
= C= HOUSING Dim A=Nx5.08[0.200]
[ 7/ » Dim B=(N—1)x5.08[0.200]
o~ // o8 cLAMP TOL. | Dim A | Dim B
— B o =) 2-6p | *0.15[0.006]
) i ~ T — N\ TERMINAL
o I:I :l |:| I:I o 10 7-12p| +0.25[0.010]
' ' °8| "3 HOUSING 13-18p| +0.30[0.012]
i \ =H: = @i 19—24p| +0.40[0.016]
- _\
ami — I
O)\ l | -5 ULk
) ) =
. o8] 8, —J
o G 4.7
s % 554 2.6 [0.19]
£88 : [0.102]
BEit [0.100] Dim B Section G—G
8285+
£1%s
- g;t Material Spec_ref
§z §§ Mott?det tolerance projection MM
65988 Heattrea
22t Plating/Firish o | —
g2EeD D | BEER FU S WA Scale
£28g2 Eng | BEER FU 5| Product fanily
288% Chr | GARY_HSIEH | 0625 Model Nane ECN T10-0042
js g2 Appr| JOSEPH_HSIA| 0625 Model Revision REL Level RELEASED
$re3 CJ | . TERMINAL BLOCK e Rev.
%%fg J ES Pluggable plug, hook entry side H 20020008 D
| ; o Pro/E flle | cotalog no CUSTOMER __ | sheet 5 of 5
SE58 -
£E5% 1 2 3 4
PDM: Rev:D status: Released ™ Printed: May 08, 2010

Downloaded from Elcodis.com electronic components distributor



http://elcodis.com/parts/6171826/20020008.html

